
Math 61-1 Midterm 2 version b
EUGENE LO

TOTAL POINTS

44 / 50

QUESTION 1

Multiple choice 10 pts

1.1  2 / 2

✓ - 0 pts Correct (d)

   - 2 pts Incorrect

1.2  0 / 2

   - 0 pts Correct (d)

   - 2 pts Incorrect

✓ - 2 pts No Answer

1.3  2 / 2

✓ - 0 pts Correct (b)

   - 2 pts Incorrect

1.4  0 / 2

   - 0 pts Correct (c)

✓ - 2 pts Incorrect

1.5  2 / 2

✓ - 0 pts Correct (b)

   - 2 pts Incorrect

QUESTION 2

Short answer 10 pts

2.1  2 / 2

✓ - 0 pts Correct (960)

   - 2 pts Incorrect

   - 0.5 pts Gave term, not just coefficient

   - 1.5 pts Didn't multiply by 8 (120) or similar

2.2  2 / 2

✓ - 0 pts Correct (34650)

   - 2 pts Incorrect

2.3  2 / 2

✓ - 0 pts Correct (302400)

   - 2 pts Incorrect

   - 2 pts No answer

2.4  2 / 2

✓ - 0 pts Correct (21)

   - 2 pts Incorrect

   - 2 pts No answer

2.5  2 / 2

✓ - 0 pts Correct (176)

   - 2 pts Incorrect

   - 2 pts No answer

QUESTION 3

Euler paths 10 pts

3.1 criteria for euler paths 4 / 5

   + 5 pts Correct

✓ + 2 pts Euler cycle criterion

   + 1 pts Euler cycle criterion (missing connected or

mistake)

✓ + 2 pts Reduction to even degree graph

   + 1 pts Reduction to even degree graph (with

mistake)

   + 1 pts Correct explanation of how to get Euler path

from Euler cycle

   + 0 pts Incorrect

Unclear how you constructed a path from the

given Euler cycle.

3.2 application of euler paths 6 / 5

✓ - 0 pts Correct

   + 2 pts Click here to replace this description.



   + 1 pts Click here to replace this description.

+ 1 Point adjustment

QUESTION 4

4 pigeon hole 10 / 10

✓ - 0 pts Correct

   - 3 pts Wrong partition

   - 3 pts No Pigeonhole

   - 2 pts Minor error

   - 10 pts Blank

QUESTION 5

hypercube 10 pts

5.1 recurrence for edges 4 / 4

✓ - 0 pts Correct

   - 4 pts empty

   - 1 pts Sounds like you are saying the n-1 dim

hypercube has n-1 vertices

   - 1 pts need to explain how the hypercube is built

out of smaller ones

   - 4 pts empty

   - 0.5 pts How do you get the recurrence?

   - 2 pts large mistake

   - 2 pts you are assuming the desired conclusion

   - 3 pts can't just do examples

You have double counted all the edges, but this

is almost an argument for why there are n2^{n-1}

edges.

5.2 formula for edges 4 / 6

   - 0 pts Correct

   - 4 pts wrong answer, need to use iteration

   - 1 pts need to use induction to show that answer is

true

   - 3 pts wrong answer, this is why you need to use

induction to show answer is true

   - 6 pts empty

   - 4 pts incomplete

✓ - 2 pts wrong answer
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